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INTERVIEW FACTS
Nr. Of Interview (1., …, 20.):      …………

Location:

                         ………………………..
Date (D/M/Y): 
                         ………………………..       
Duration: 
                         ………….. - …………

Persons present at interview:
1. CCBMIS:…………………………………………………………..…
2. SDGD: …………………………………………………………..…….
3. Interview administrator: ……………………………………………
4. Interviewee
· Trade union representative
· Management team representative
	Company Data
	

	Size of the company (L, M, S, Mi)
	 

	Standard Classification of Activities 2008
	

	Main products & services 
	 

	Nr. of employees (1-10, 10-50, 50-250, 250< …)
	 

	Value added per employee
	 

	Qualification structure  in %
	 

	University degree and more
	 

	High school degree
	 

	     Secondary school education/Vocational education
	 

	National Vocational Qualifications
	 

	No profession
	 

	Interviewee
	 

	Name, Family Name (will not be revealed in report!)
	 

	Gender
	 

	Age (18-25, 26-35, 36-45, 46-55, 56<…)
	 

	Education 
	

	Work position
	

	Describe shortly key company problems
	

	Describe shortly key construction industry problems
	

	Please specify what should be improved in construction industry business and legislation related to employment
	

	Familiar with interview documentation about PS?
	   YES                    PARTLY                    NO 


INTERVIEW QUESTIONNAIRE
1. Occupational health
DESCRIBE CURRENT SITUATION IN COUNTRY  (on 1/ 2 page or more) 

…………………………………………………………………………………………………………………………
1.A - Evaluation of the current conditions
Evaluation of current conditions regarding occupational health


 
   
   1 2 3 4 5 

Inappropriate (1), fair (2), good (3), very good (4), excellent (5) 
Importance of the issue for employer 





  

   1 2 3 4 5

Unimportant (1), slightly important (2), important (3), very important (4), critical (5)
Importance of the issue for employees 





 
 
   1 2 3 4 5 Unimportant (1), slightly important (2), important (3), very important (4), critical (5)
1.B-Advantages/disadvantages of the existing scheme
Under the existing scheme, how high is the sick leave coverage for employees?


        1 2 3

too high (1), appropriate (2), too low (3) 










How high are employer's costs for sick leave insurance?  
too high (1), appropriate (2), too low (3) 







        1 2 3

How high are employees' costs for sick leave insurance? 




        1 2 3

too high (1), appropriate (2), too low (3) 








Other:…………………………………………………………………………………………………………….
Management of funds collected from paid contributions
How high are the costs for managing paid contributions?  
                            too high (1), appropriate (2)
How good is the existing control over the paid contributions to prevent their unauthorised use? 





                                     

                    appropriate (1), inappropriate (2)  

How good is the control intended to prevent the misuse of funds and excessive use of money in the fund by employees? 





             
       appropriate (1), inappropriate (2)  
Under the existing scheme, is it possible for employers to avoid paying the required insurance?









                    


     YES   NO
Under the existing scheme, is it possible for employees to avoid paying the required insurance? 









                  


     YES   NO
Other:…………………………………………………………………………………………………………….
1.C-Desired conditions
Assigned meaning of numerical values:
unimportant (1), slightly important (2), important (3), very important (4), critical (5)











       Please circle
Higher compensation for sick leave







 1 2 3 4 5
Lower expenses for covering sick leave







 1 2 3 4 5
Lower costs for fund management







 1 2 3 4 5
More efficient control over the management of funds (less unauthorised use of money for other purposes) 
1 2 3 4 5
More efficient control over sick leave absences




 

1 2 3 4 5
Other:…………………………………………………………………………………………………………….
1.D - PF Contribution - introduction of an occupational health parity fund and its benefits for both employees and employers
Assigned meaning of numerical values: 
unimportant (1), slightly important (2), important (3), very important (4), critical (5)












Please circle
Benefits for employees—more rights







1 2 3 4 5
Benefits for employees—lower contribution payments





1 2 3 4 5
Benefits for employers—lower contribution payments 





1 2 3 4 5
Establishing a standard for as many branch companies and employees as possible 

1 2 3 4 5

Benefits for employers—better control over unauthorised and excessive spending of funds












1 2 3 4 5
Stricter control over fund management—reducing the possibility of spending the funds for other purposes 












1 2 3 4 5
Stricter control over unauthorised use of fund assets





1 2 3 4 5
Lower costs of fund management







1 2 3 4 5
Clearly defined division of responsibility between employers and employees for fund contributions












1 2 3 4 5
Independent regulation of relations between employees and employers without intermediaries, contributing towards increased mutual trust and better cooperation 





1 2 3 4 5
What should be the employer to employee ratio for fund contributions?        10:1, 5:2, 1:1. 2:5, 1:10, other:……
Other:…………………………………………………………………………………………………………….
Who should be in charge of managing the assets for employee health care? 

Assigned values: unacceptable (1), acceptable (2), good (3)
Please circle
An independent parity fund completely controlled by its financial contributors (employers and employees through their intermediaries)








1 2 3

Company










1 2 3

Trade union










1 2 3

The state










1 2 3

Social institutions 









1 2 3

1.E - Expected obstacles
Opposition from employees
   







    YES NO
Opposition from employers 








    YES NO
Opposition from current asset managers






    
    YES NO
Legal and administrative obstacles







    YES NO
Political obstacles (opposition from certain political parties, trade unions or employer representatives) 
Please specify: ……………………………………………………………………………………………………………………….
Partners' lack of trust in the legal security of assuring effective fund management control  

    YES NO
Extremely restricted funds of both parties (employees and employers) due to the financial crisis        YES NO
Difficulties in obtaining start-up capital for the fund 





    YES NO
Other:…………………………………………………………………………………………………………….
2. Occupational safety:
DESCRIBE CURRENT SITUATION IN COUNTRY  (on 1/ 2 page or more) 

………………………………………………………………………………………………………………………………

2.A - Evaluation of existing scheme
Evaluation of existing scheme   
    







     1 2 3 4 5 

Inappropriate (1), fair (2), good (3), very good (4), excellent (5) 

Importance of the issue for employers 







     1 2 3 4 5 Unimportant (1), slightly important (2), important (3), very important (4), critical (5)
Importance of the issue for employees 







     1 2 3 4 5 Unimportant (1), slightly important (2), important (3), very important (4), critical (5)
2.B - Advantages/disadvantages of the existing scheme
To what extent does the existing scheme encourage employers to follow the occupational safety requirements? 



                       to great extent (1), to some extent (2), to little extent (3) 

To what extent does the existing scheme encourage employee education in occupational safety and health risks and observance of occupational safety regulations? 

 








                       to great extent (1), to some extent (2), to little extent (3)
To what extent does the existing scheme encourage employees to follow the occupational safety requirements? 



                       to great extent (1), to some extent (2), to little extent (3)
How high is the insurance cost for the employer?                        
         too high (1), appropriate (2), too low (3) 

How high is the insurance cost for employees? 
                                   too high (1), appropriate (2), too low (3)
How high is the compensation for the claimants?
   

         too low (1), appropriate (2), too high (3)
Other:…………………………………………………………………………………………………………….
Management of assets collected from paid contributions
How high are the costs for managing paid contributions? 
                            too high (1), appropriate (2)
How good is the existing control over the contribution management to prevent their unauthorised use? 









              adequate (1), inadequate (2)  

How good is the control intended to prevent the misuse of funds and excessive use of assets in the fund by employees? 







              adequate (1), inadequate (2)  

Under the existing scheme, is it possible for employers to avoid paying the required insurance?
      YES NO
Under the existing scheme, is it possible for employees to avoid paying the required insurance? 
      YES NO
Other:…………………………………………………………………………………………………………….
2.C -Desired conditions
Assigned meaning of numerical values: 
unimportant (1), slightly important (2), important (3), very important (4), critical (5)











   
Please circle
Lower employer costs for occupational accident prevention and compensation payments to claimants 1 2 3 4 5
Lower employee costs for occupational accident prevention and compensation payments to claimants                         
 











      1 2 3 4 5 Higher compensation payments to claimants for injury and death 



      1 2 3 4 5
Lower costs for fund management







      1 2 3 4 5
Increased control over fund management (less unauthorised use of money for other purposes) 
      1 2 3 4 5
Increased control over occupational safety measures implementation 


                   1 2 3 4 5
2.D - PF Contribution - introduction of an occupational safety parity fund and its benefits for both employees and employers
Assigned meaning of numerical values: 
unimportant (1), slightly important (2), important (3), very important (4), critical (5)
Benefits for employees—more rights







     1 2 3 4 5

Benefits for employees—smaller contribution payments





     1 2 3 4 5

Benefits for employers—smaller contribution payments 





     1 2 3 4 5

Establishing a standard for as many branch companies and employees as possible 
 
     1 2 3 4 5

Benefits for employers—better control over unauthorised and excessive spending of funds    
     1 2 3 4 5

Stricter control over fund management—reducing the possibility of spending the funds for other purposes 












      1 2 3 4 5

Stricter control over unauthorised use of the fund's assets




      1 2 3 4 5

Lower costs of fund management







      1 2 3 4 5

Clearly defined division of responsibility between employers and employees for fund contributions      1 2 3 4 5
Independent regulation of relations between employees and employers without intermediaries, contributing towards increased mutual trust and better cooperation 





      1 2 3 4 5

What should be the employer to employee ratio for fund contributions?       10:1, 5:2, 1:1. 2:5, 1:10, other:……
Other:…………………………………………………………………………………………………………….
Who should be in charge of managing the assets for employee occupational safety? 

Assigned values: unacceptable (1), acceptable (2), good (3)
An independent parity fund completely controlled by its financial contributors (employers and employees through their intermediaries)








        1 2 3

Company










        1 2 3

Trade union










        1 2 3

The state










        1 2 3

Social institutions 









        1 2 3

2.E - Expected obstacles
Opposition from the employees   







       YES NO
Opposition from the employers 








       YES NO
Opposition from the current funds managers






       YES NO
Legal and administrative obstacles







       YES NO
Political obstacles (opposition from certain political parties, trade unions or employer representatives)
Please specify:
…………………………………………………………………………………………………………………………..
Partners' lack of trust in the legal security of assuring effective fund management control 

       YES NO
Extremely restricted funds of both parties (employees and employers) due to the financial crisis
       YES NO
Difficulties in obtaining start-up capital for the fund 





       YES NO
Other:…………………………………………………………………………………………………………….
3. Vocational training
DESCRIBE CURRENT SITUATION IN COUNTRY  (on 1/ 2 page or more) 

………………………………………………………………………………………………………………………………

3.A - Evaluation of existing system
Evaluation of the existing vocational training system

    


   
  1 2 3 4 5 

Inappropriate (1), fair (2), good (3), very good (4), excellent (5) 

Evaluation of the education and training for employees related to their work

        
  1 2 3 4 5 

Inappropriate (1), fair (2), good (3), very good (4), excellent (5) 

Importance of employee vocational training for employers 




  1 2 3 4 5

Unimportant (1), slightly important (2), important (3), very important (4), critical (5)
Importance of employee vocational training for employees 




  1 2 3 4 5

Unimportant (1), slightly important (2), important (3), very important (4), critical (5)
3.B- Advantages/disadvantages of the existing system
To what extent does the existing system encourage employers to include their employees in vocational training? 




         to great extent (1), to some extent (2), to little extent (3)
To what extent does the existing system motivate employees for vocational training? 

 





         to great extent (1), to some extent (2), to little extent (3)
To what extent does the existing system encourage employers for vocational training of employees? 






         to great extent (1), to some extent (2), to little extent (3)
In your opinion, how high is the share of employer's contribution towards vocational training?
         too high (1), appropriate (2), too low (3) 

In your opinion, how high is the share of employees' contribution towards vocational training?
         too high (1), appropriate (2), too low (3) 

Management of assets collected from paid contributions
How high are the costs for managing paid contributions? 

               too high (1), appropriate (2)
How good is the existing control over contributions management to prevent their unauthorised use? 









              adequate (1), inadequate (2)  

How good is the control intended to prevent the misuse of funds and excessive use of assets in the fund by employees? 






 
              adequate (1), inadequate (2)  

Under the existing system, is it possible for employers to avoid paying the required insurance?           YES NO
Under the existing system, is it possible for employees to avoid paying the required funds for insurance? 


   








                   YES NO
Other:…………………………………………………………………………………………………………….
3.C - Desired conditions
Assigned meaning of numerical values:
Unimportant (1), slightly important (2), important (3), very important (4), critical (5)
Please circle
Employees gain knowledge and skills to perform their work better              

               1 2 3 4 5 

Increased employee responsibility in performing their work              



  1 2 3 4 5
A greater number of international quality standard certificates available to companies     

  1 2 3 4 5
Increasing the company's competitiveness on the national market and the international markets      1 2 3 4 5
An efficient way of ensuring contributors have control over asset spending
       
               1 2 3 4 5
A higher price of construction services on the market                              



  1 2 3 4 5
What should be the employer to employee ratio for contributions?            10:1, 5:2, 1:1. 2:5, 1:10, other:..........
Other:…………………………………………………………………………………………………………….
3.D - PF Contribution - introduction of a vocational training parity fund and its benefits for both employees and employers 
Assigned meaning of numerical values: 
unimportant (1), slightly important (2), important (3), very important (4), critical (5)











            Please circle
Increasing employees’ and employer’s interest for expanding employees' knowledge and skills, thereby increasing the company's competitiveness






      1 2 3 4 5

Benefit to the the employees and their value on the labour market



      1 2 3 4 5

Benefit to the employers and increasing the company's competitiveness on the national market and the international markets  









      1 2 3 4 5

Benefit to the employers—better control over unauthorised and excessive spending of funds
      1 2 3 4 5

Establishing a standard for as many branch companies and employees as possible 
      
      1 2 3 4 5

Increasing the company's competitiveness on the national market and the international markets 
      1 2 3 4 5  

Stricter control over fund management—reducing the possibility of spending the funds for other purposes 












      1 2 3 4 5

Stricter control over unauthorised use of the fund's assets




      1 2 3 4 5

Lower costs of fund management







      1 2 3 4 5

Clearly defined division of responsibility between employers and employees for fund contributions       1 2 3 4 5
Independent regulation of relations between employees and employers without intermediaries, contributing towards increased mutual trust and better cooperation 





      1 2 3 4 5
What should be the employer to employee ratio for fund contributions?    10:1, 5:2, 1:1. 2:5, 1:10, other:..........
Other:…………………………………………………………………………………………………………….
Who should be in charge of managing the assets for employee vocational training? 
Assigned values: unacceptable (1), acceptable (2), good (3)
Please circle
An independent parity fund completely controlled by its financial contributors (employers and employees through their intermediaries)








      1 2 3

Company










      1 2 3

Trade union










      1 2 3

The state










      1 2 3
Social institutions 









      1 2 3

3.E - Expected obstacles
Opposition from the employees   







      YES NO
Opposition from the employers 








      YES NO
Opposition from the current asset managers






      YES NO
Legal and administrative obstacles







      YES NO
Political obstacles (opposition from certain political parties, trade unions or employer representatives)
Please specify: ………………………………………………………………………………………………………..
Partners' lack of trust in the legal security of assuring effective fund management control 

      YES NO
Extremely restricted funds of both parties (employees and employers) due to the financial crisis 
      YES NO
Difficulties in obtaining start-up capital for the fund 



  

      YES NO
Other:…………………………………………………………………………………………………………….
4. Holiday entitlement for public holidays
DESCRIBE CURRENT SITUATION IN COUNTRY  (on 1/ 2 page or more) 

………………………………………………………………………………………………………………………………

4.A - Evaluation of current conditions
Evaluation of current conditions concerning the issue    





   1 2 3 4 5 

Inappropriate (1), fair (2), good (3), very good (4), excellent (5) 

Importance of the issue for employers 







   1 2 3 4 5

Unimportant (1), slightly important (2), important (3), very important (4), critical (5)
Importance of the issue for employees 







   1 2 3 4 5

Unimportant (1), slightly important (2), important (3), very important (4), critical (5)
4.B - Advantages/disadvantages of the existing scheme
How good is the existing holiday entitlement scheme for public holidays? 
              inadequate (1), good (2), extremely good (3)
How high are the employer's holiday entitlement costs for public holidays?  
          too high (1), appropriate (2), too low (3)
How high are the employee's holiday entitlement costs for public holidays?  
          too high (1), appropriate (2), too low (3)
Management of assets collected from paid contributions
How high are the costs for managing paid contributions?


               too high (1), appropriate (2)
How good is the existing control over the contributions management to prevent their unauthorised use? 









 
adequate (1), inadequate (2)  

How good is the control intended to prevent the misuse of funds and excessive use of assets in the fund by employees? 






 

 adequate (1), inadequate (2)  

Under the existing system, is it possible for employers to avoid paying the required amount?     
YES NO
Under the existing system, is it possible for employees to avoid paying the required amount?        YES NO
Other:…………………………………………………………………………………………………………….
4.C - Desired conditions
Assigned meaning of numerical values: 
unimportant (1), slightly important (2), important (3), very important (4), critical (5)
        Please circle
Entitlement to higher compensation for public holidays for employees



  1 2 3 4 5
Lower employer contribution payments to employees for public holidays



  1 2 3 4 5
Lower one-time payments made by employers for employee compensation for public holidays
  1 2 3 4 5
Low costs of fund management







  
  1 2 3 4 5
Increased control over fund management (prevention of unauthorised use of money for other purposes)

  1 2 3 4 5
Effective control over employees' unauthorised use of money for other purposes  


  1 2 3 4 5
What should be the employer to employee ratio for contributions?            10:1, 5:2, 1:1. 2:5, 1:10, other:..........
Other:…………………………………………………………………………………………………………….
4.D - PF Contribution - introduction of a parity fund for holiday entitlement for public holidays and its benefits for both employees and employers
Assigned meaning of numerical values: 
unimportant (1), slightly important (2), important (3), very important (4), critical (5)












Please circle
Benefits for employees—more rights






 
 1 2 3 4 5

Benefits for employees—smaller contribution payments





 1 2 3 4 5

Benefits for employers—smaller contribution payments 





 1 2 3 4 5

Establishing a standard for as many branch companies and employees as possible 

 1 2 3 4 5

Benefits for employers—better control over unauthorised and excessive spending of funds
 1 2 3 4 5

Stricter control over fund management—reducing the possibility of spending the funds for other purposes 












 1 2 3 4 5

Stricter control over unauthorised use of the fund's assets




 1 2 3 4 5

Lower costs of fund management







 1 2 3 4 5

Clearly defined division of responsibility between employers and employees for fund contributions 1 2 3 4 5
Independent regulation of relations between employees and employers without intermediaries, contributing towards increased mutual trust and better cooperation 





 1 2 3 4 5

Other:…………………………………………………………………………………………………………….
Who should be in charge of managing the assets for holiday entitlement during public holidays?  

Assigned values: unacceptable (1), acceptable (2), good (3)
An independent parity fund completely controlled by its financial contributors (employers and employees through their intermediaries)








      1 2 3

Company










      1 2 3

Trade union










      1 2 3

The state










      1 2 3
Social institutions 









      1 2 3

4.E - Expected obstacles
Opposition from the employees   







     YES NO
Opposition from the employers 








     YES NO
Opposition from the current funds managers






     YES NO
Legal and administrative obstacles







     YES NO
Political obstacles (opposition from certain political parties, trade unions or employer representatives)
Please specify:
…………………………………………………………………………………………………………………………..
Partners' lack of trust in the legal security of assuring effective fund management control 

    YES NO
Extremely restricted funds of both parties (employees and employers) due to the financial crisis 
    YES NO
Difficulties in obtaining start-up capital for the fund 





    YES NO
Other:…………………………………………………………………………………………………………….
5. Bad weather compensation for employees
DESCRIBE CURRENT SITUATION IN COUNTRY  (on 1/ 2 page or more) 

………………………………………………………………………………………………………………………………

5.A - Evaluation of the current scheme
Evaluation of the current scheme           







 1 2 3 4 5 

Importance of the issue for employers 







 1 2 3 4 5

Importance of the issue for employees 







 1 2 3 4 5

5.B - Advantages/disadvantages of the existing scheme
How much of employees' pay does the existing scheme cover in case of a reduced work load due to bad weather?  
too much (1), appropriate (2), too little (3) 




   1 2 3

How high are the employer's costs for covering the risk of a reduced work load due to bad weather?   
too high (1), appropriate (2), too low (3) 





   1 2 3

How high are the employee's costs for covering the risk of a reduced work load due to bad weather?        
too high (1), appropriate (2), too low (3) 





   1 2 3

Other:…………………………………………………………………………………………………………….
Management of assets collected from paid contributions
How high are the costs of managing the collected funds? 
                            too high (1), appropriate (2)
How good is the existing control over the management of funds to prevent their unauthorised use? 









              adequate (1), inadequate (2)  

How good is the control intended to prevent the misuse of funds and excessive use of funds by employees? 






 

              adequate (1), inadequate (2)  

Under the existing scheme, is it possible for employers to avoid paying the required amount?    
       YES NO
Under the existing scheme, is it possible for employees to avoid paying the required amount?   
       YES NO
Other:…………………………………………………………………………………………………………….
5.C - Desired conditions
Assigned meaning of numerical values: 
Unimportant (1), slightly important (2), important (3), very important (4), critical (5)
Please circle
Entitlement to higher wage compensation in case of bad weather for employees


1 2 3 4 5
Lower employer's risk of an unexpected loss of revenue 





1 2 3 4 5
Lower costs of covering unexpected revenue loss for employers




1 2 3 4 5
Lower costs of covering unexpected revenue loss for employees




1 2 3 4 5
Low costs of fund management








1 2 3 4 5
Increased control over fund management (prevention of unauthorised use of money for other purposes)
 
1 2 3 4 5
Increased control over employees' actions (prevention of unauthorised fund use by employees)    1 2 3 4 5
What should be the employer to employee ratio for contributions?           10:1, 5:2, 1:1. 2:5, 1:10, other:..........
5.D - PF Contribution - introduction of a parity fund for bad weather compensation for employees and its benefits for both employees and employers
Assigned meaning of numerical values: 
Unimportant (1), slightly important (2), important (3), very important (4), critical (5)
Benefits for employees—more rights







 1 2 3 4 5

Benefits for employees—smaller contribution payments





 1 2 3 4 5

Lower employers' risk of an unexpected loss of revenue





 1 2 3 4 5

Benefits for employers—smaller contribution payments 





 1 2 3 4 5

Establishing a standard for as many branch companies and employees as possible 

 1 2 3 4 5

Improved employer position—better control over unauthorised and excessive spending of funds
 1 2 3 4 5

Stricter control over fund management—reducing the possibility of spending the funds for other purposes 












 1 2 3 4 5

Stricter control over unauthorised use of the fund's assets




 1 2 3 4 5

Lower costs of fund management







 1 2 3 4 5

Clearly defined division of responsibility between employers and employees for fund contributions 1 2 3 4 5
Independent regulation of relations between employees and employers without intermediaries, contributing towards increased mutual trust and better cooperation 





 1 2 3 4 5
Other:…………………………………………………………………………………………………………….
Who should be in charge of managing the assets for bad weather compensation for employees? 

Assigned values: unacceptable (1), acceptable (2), good (3)
An independent parity fund completely controlled by its financial contributors (employers and employees through their intermediaries)








  1 2 3

Company










  1 2 3

Trade union










  1 2 3

The state










  1 2 3

Social institutions 









  1 2 3

5.E - Expected obstacles
Opposition from the employees   







    YES NO
Opposition from the employers 








    YES NO
Opposition from the current funds managers






    YES NO
Legal and administrative obstacles







    YES NO
Political obstacles (opposition from certain political parties, trade unions or employer representatives)
Please specify:
……………………………………………………………………………………………………………………………
Partners' lack of trust in the legal security of assuring effective fund management control 

   YES NO
Extremely restricted funds of both parties (employees and employers) due to the financial crisis 
   YES NO
Difficulties in obtaining start-up capital for the fund 





   YES NO
Other:…………………………………………………………………………………………………………….
6. Redundancy, dismissals, severance pay
DESCRIBE CURRENT SITUATION IN COUNTRY  (on 1/ 2 page or more) 

………………………………………………………………………………………………………………………………

6.A - Evaluation of the current scheme
Evaluation of the current scheme   
    






      1 2 3 4 5 

Inappropriate (1), fair (2), good (3), very good (4), excellent (5) 

Guaranteed severance pay for employees in case or redundancy or dismissal and its importance for employers 










      1 2 3 4 5

Unimportant (1), slightly important (2), important (3), very important (4), critical (5)
Guaranteed severance pay for employees in case or redundancy or dismissal and its importance for employees 









  
      1 2 3 4 5

Unimportant (1), slightly important (2), important (3), very important (4), critical (5)
6.B - Advantages/disadvantages of the existing scheme
How high is employees' severance package in case of redundancies, dismissals and bankruptcies under the existing scheme? 
 too high (1), appropriate (2), too low (3) 




            1 2 3

How high is the likelihood employees will actually receive a severance package in case of redundancies, dismissals or bankruptcy under the existing scheme?
 
 

 very high (1), medium (2), very low (3) 




            1 2 3

How high are employees' costs for covering their severance package in case of redundancies, dismissals or bankruptcy?                 non-existent (0), too high (1), appropriate (2), too low (3)


         0 1 2 3

How high are employers' costs for covering the severance package of employees in case of redundancies, dismissals or bankruptcy?   non-existent (0), too high (1), appropriate (2), too low (3)
 
         0 1 2 3

Other:…………………………………………………………………………………………………………….
Management of assets collected from paid contributions
How high are the costs of managing the collected funds?     


  too high (1), appropriate (2)
How good is the existing control over the management of funds to prevent their unauthorised use? 










 adequate (1), inadequate (2)  

How good is the control intended to prevent the misuse of funds and excessive use of funds by employees? 









 adequate (1), inadequate (2)  

Under the existing scheme, is it possible for employers to avoid paying the required amount?
       YES NO
Under the existing scheme, is it possible for employees to avoid paying the required amount?              YES NO
Other:…………………………………………………………………………………………………………….
6.C - Desired conditions
Assigned meaning of numerical values: 
Unimportant (1), slightly important (2), important (3), very important (4), critical (5)
Please circle
Better severance packages for employees 






     1 2 3 4 5
Higher likelihood that severance packages and unpaid wages will actually be paid out

     1 2 3 4 5
A higher likelihood of finding new work faster and, if necessary, re-qualifying


     1 2 3 4 5
Lower costs for employers (lower dismissal costs, lower risk of interrupted business operations due to a strike action threat) 










     1 2 3 4 5
Lower employer's risk of not having the funds to ensure severance packages 


     1 2 3 4 5
Faster restructuring of companies to adapt to new market conditions



1 2 3 4 5
Lowest costs of fund management







1 2 3 4 5
Efficient control over fund management (less unauthorised use of money for other purposes)
1 2 3 4 5
Efficient control over employees' actions (prevention of unauthorised use by employees)

1 2 3 4 5
What should be the employer to employee ratio for contributions?            10:1, 5:2, 1:1. 2:5, 1:10, other:..........
Other:…………………………………………………………………………………………………………….
6.D - PF Contribution - introduction of a parity fund for employee severance packages in case of redundancy, dismissal or bankruptcy and its benefits for both employees and employers
Assigned meaning of numerical values: 
Unimportant (1), slightly important (2), important (3), very important (4), critical (5)
Benefits for employees—increased social security in case of redundancy or dismissal

1 2 3 4 5

Improved employee position—lower contribution payments




1 2 3 4 5

Reduced risk for employers—lower redundancy or dismissal costs



1 2 3 4 5

Benefits for employers—lower contribution payments 





1 2 3 4 5

Establishing a standard for as many branch companies and employees as possible

1 2 3 4 5

Benefits for employers—better control over unauthorised and excessive spending of funds
1 2 3 4 5

Stricter control over fund management—reducing the possibility of spending the funds for other purposes 












1 2 3 4 5

Stricter control over unauthorised use of the fund's assets




1 2 3 4 5

Lower costs of fund management







1 2 3 4 5

Clearly defined division of responsibility between employers and employees for fund contributions 1 2 3 4 5
Independent regulation of relations between employees and employers without intermediaries, contributing towards increased mutual trust and better cooperation 





1 2 3 4 5
Other:…………………………………………………………………………………………………………….
Who should be in charge of managing the assets for employee severance packages in case of redundancy, dismissal or bankruptcy?
Assigned values: unacceptable (1), acceptable (2), good (3)  

An independent parity fund completely controlled by its financial contributors (employers and employees through their intermediaries)








1 2 3

Company










1 2 3

Trade union










1 2 3

The state










1 2 3

Social institutions 









1 2 3

6.E - Expected obstacles
Opposition from the employees   







  YES NO
Opposition from the employers 








  YES NO
Opposition from the current funds managers






  YES NO
Legal and administrative obstacles







  YES NO
Political obstacles (opposition from certain political parties, trade unions or employer representatives) 
Please specify:
……………………………………………………………………………………………………………………….

Partners' lack of trust in the legal security of assuring effective fund management control 

  YES NO
Extremely restricted funds of both parties (employees and employers) due to the financial crisis
  YES NO
Difficulties in obtaining start-up capital for the fund 





  YES NO
Other:…………………………………………………………………………………………………………….
7. Survivors' compensation—death benefits
DESCRIBE CURRENT SITUATION IN COUNTRY  (on 1/ 2 page or more) 

………………………………………………………………………………………………………………………………

7.A - Evaluation of the current scheme
Evaluation of the current scheme    
    






    1 2 3 4 5 

Inappropriate (1), fair (2), good (3), very good (4), excellent (5) 

Ensuring industrial insurance benefits for survivors when an employee dies and importance of the issue for employers 

    








     1 2 3 4 5
Unimportant (1), slightly important (2), important (3), very important (4), critical (5)
Ensuring industrial insurance benefits for survivors when an employee dies and importance of the issue for employees 

 








     1 2 3 4 5
Unimportant (1), slightly important (2), important (3), very important (4), critical (5)
7.B - Advantages/disadvantages of the existing scheme
How high is the insurance benefit for survivors when an employee dies under the existing scheme?
non-existent (0), too high (1), appropriate (2), too low (3)
 



     
        0 1 2 3

How high, under the existing scheme, is the insurance benefit payment security for survivors when an employee dies?





 appropriate (1), too low (2)
 
       1 2
Is the survivors' compensation plan too dependent on the company's financial situation (in favourable financial conditions, is survivors' compensation more likely to be paid and likelier to be higher than under unfavourable financial conditions)?  

         





     

      YES NO
How high are the employer's costs for survivors' compensation? 

non-existent (0), too high (1), appropriate (2), too low (3)
 


         0 1 2 3

How high are the employees' insurance costs? 

non-existent (0), too high (1), appropriate (2), too low (3)
 


         0 1 2 3

The number of beneficiaries of survivors' compensation is:
too high (1), appropriate (2), too low (3) 
 






         0 1 2 3
Other:…………………………………………………………………………………………………………….
Management of assets collected from paid contributions
How high are the costs of managing the collected funds? 
   
               too high (1), appropriate (2)
How good is the existing control over the management of funds to prevent their unauthorised use? 









       appropriate (1), inappropriate (2)  

How good is the control intended to prevent the misuse of funds and excessive use of funds by employees? 






                                 appropriate (1), inappropriate (2)  

Under the existing scheme, is it possible for employers to avoid paying the required amount?
       YES NO
Under the existing scheme, is it possible for employees to avoid paying the required amount? 
       YES NO
Other:…………………………………………………………………………………………………………….
7.C - Desired conditions
Assigned meaning of numerical values: 
Unimportant (1), slightly important (2), important (3), very important (4), critical (5)











Please circle
The same scheme, benefits and guarantee of benefit payments for all employees in the same branch, regardless of the company's financial situation 






1 2 3 4 5
Lower expense for employers in case of the death of an employee 



1 2 3 4 5
Lower expense for employees in case of the death of an employee 



    1 2 3 4 5

Lower costs of fund management







    1 2 3 4 5
Greater transparency and increased control over fund management (less unauthorised use of money for other purposes)










     1 2 3 4 5
The existing benefit payments to beneficiaries in case of the death of an employee are:
non-existent (0), too high (1), appropriate (2), too low (3)
 


     0 1 2 3

What should be the employer to employee ratio for contributions?           10:1, 5:2, 1:1. 2:5, 1:10, other:..........
Other:…………………………………………………………………………………………………………….
7.D - PF Contribution - introduction of a survivors' compensation parity fund for death benefits and its importance for both employees and employers
Assigned meaning of numerical values:
Unimportant (1), slightly important (2), important (3), very important (4), critical (5)
Improved employee position—more rights, higher guarantee of payments, lower contributions             1 2 3 4 5
Improved employee position—lower contribution payments




      1 2 3 4 5

Reduced risk for employers—lower lump sum payments





      1 2 3 4 5

Improved employer position—lower contribution payments 




      1 2 3 4 5

Establishing a standard for as many branch companies and employees as possible 

      1 2 3 4 5

Improved employer position—better control over unauthorised and excessive spending of funds
      1 2 3 4 5

Good control over fund management—reducing the possibility of spending the funds for other purposes 












      1 2 3 4 5

Lower costs of fund management







      1 2 3 4 5

Clearly defined division of responsibility between employers and employees for fund contributions      1 2 3 4 5
Independent regulation of relations between employees and employers without intermediaries, contributing towards increased mutual trust and better cooperation 





      1 2 3 4 5
Other:…………………………………………………………………………………………………………….
Who should be in charge of managing the assets for survivors' compensation?
Assigned values: unacceptable (1), acceptable (2), good (3)  

An independent parity fund completely controlled by its financial contributors (employers and employees through their intermediaries)







  
        1 2 3

Company










        1 2 3

Trade union










        1 2 3

The state










        1 2 3

Social institutions 









        1 2 3

7.E - Expected obstacles
Opposition from the employees   






        
     YES NO
Opposition from the employers 







        
     YES NO
Opposition from the current funds managers





        
     YES NO
Legal and administrative obstacles






                  YES NO
Political obstacles (opposition from certain political parties, trade unions or employer representatives) 
Please specify:
……………………………………………………………………………………………………………………………….
Partners' lack of trust in the legal security of assuring effective fund management control 
          
     YES NO
Extremely restricted funds of both parties (employees and employers) due to the financial crisis       YES NO
Difficulties in obtaining start-up capital for the fund 



                             YES NO
Other:…………………………………………………………………………………………………………….
8. Pensions—additional pension insurance
DESCRIBE CURRENT SITUATION IN COUNTRY  (on 1/ 2 page or more) 

………………………………………………………………………………………………………………………………

8.A - Evaluation of the existing plan
Evaluation of the existing plan    
    






      1 2 3 4 5 

       Inappropriate (1), fair (2), good (3), very good (4), excellent (5) 

Additional pension insurance scheme provision and its importance for employers 


      1 2 3 4 5
Unimportant (1), slightly important (2), important (3), very important (4), critical (5)
Additional pension insurance scheme provision and its importance for employees


      1 2 3 4 5
Unimportant (1), slightly important (2), important (3), very important (4), critical (5)
8.B - Advantages/disadvantages of the existing plan
Under the existing plan, how high are the pensions of employees in the branch?
non-existent (0), too high (1), appropriate (2), too low (3) 


    
     0 1 2 3

How high are employer's contributions into additional pension funds?
non-existent (0), too high (1), appropriate (2), too low (3)
 


     0 1 2 3

How high are employees' contributions into additional pension funds?
non-existent (0), too high (1), appropriate (2), too low (3)
 


     0 1 2 3

Other:…………………………………………………………………………………………………………….
Advantages/disadvantages of the existing plan
How high are expected pensions under the existing plan scheme? 

too low (1), appropriate (2), too high (3)  



      1 2 3 

Expected security and reliability of pension payments for the future
too low (1), appropriate (2), too high (3)  



      1 2 3 

How high are employer's contributions into pension funds?
too low (1), appropriate (2), too high (3)  



      1 2 3 

How high are employees' contributions into pension funds?
too low (1), appropriate (2), too high (3)  



      1 2 3 

Does the state guarantee additional payments into the pension fund from the budget?
no (0), not enough (1), appropriate amount (2)

      0 1 2

Management of assets collected from paid contributions
How high are the costs of managing the collected funds? 

               too high (1), appropriate (2)
How good is the existing control over the management of funds to prevent their unauthorised use? 









       appropriate (1), inappropriate (2)  

How good is the control intended to prevent the misuse of funds and excessive use of funds by employees? 






                                 appropriate (1), inappropriate (2)  

Under the existing scheme, is it possible for employers to avoid paying the required amount?               YES NO
Under the existing scheme, is it possible for employees to avoid paying the required amount?              YES NO
Other:…………………………………………………………………………………………………………….
8.C - Desired conditions
Assigned meaning of numerical values: 
unimportant (1), slightly important (2), important (3), very important (4), critical (5)












Please circle
Higher pensions for employees








1 2 3 4 5 
Greater dependence between the level of pension and the level of contributions actually paid in for an employee










1 2 3 4 5
Lower costs of contribution payments for employers





1 2 3 4 5 

Lower costs of contribution payments for employees





1 2 3 4 5 

Lower costs of pension fund management






1 2 3 4 5
Increased control over fund management (less unauthorised use of money for other purposes)
1 2 3 4 5

A fairer division of funds among beneficiaries (the total length and amount of payments should be the only basis for calculating additional pension benefits) 






1 2 3 4 5
What should be the employer to employee ratio for contributions?           10:1, 5:2, 1:1. 2:5, 1:10, other:..........
Other:…………………………………………………………………………………………………………….
8.D - PF Contribution - introduction of an additional pension parity fund for employees and its benefits for both employees and employers
Assigned meaning of numerical values: 
Unimportant (1), slightly important (2), important (3), very important (4), critical (5)
Benefits for employees—more rights, higher guarantee of payments


  
      1 2 3 4 5

Benefits for employees—greater interest for employment in a given branch


      1 2 3 4 5

Establishing a standard for as many branch companies and employees as possible 

      1 2 3 4 5

Benefits for employers—better control over unauthorised and excessive spending of funds
      1 2 3 4 5

Good control over fund management—reducing the possibility of spending the funds for other purposes 
      1 2 3 4 5
Lower costs of fund management







      1 2 3 4 5

Clearly defined division of responsibility between employers and employees for fund contributions       1 2 3 4 5
Independent regulation of relations between employees and employers without intermediaries, contributing towards increased mutual trust and better cooperation 





      1 2 3 4 5
Other:…………………………………………………………………………………………………………….
Who should be in charge of managing the assets for additional pension insurance?
Assigned values: unacceptable (1), acceptable (2), good (3)
An independent parity fund completely controlled by its financial contributors (employers and employees through their intermediaries)








     1 2 3

Company










     1 2 3

Trade union










     1 2 3

The state










     1 2 3

Social institutions 









     1 2 3

8.E - Expected obstacles
Opposition from the employees   







    YES NO
Opposition from the employers 








    YES NO
Opposition from the current funds managers






    YES NO
Legal and administrative obstacles







    YES NO
Political obstacles (opposition from certain political parties, trade unions or employer representatives) 
Please specify:
……………………………………………………………………………………………………………………………
Partners' lack of trust in the legal security of assuring effective fund management control 

YES NO
Extremely restricted funds of both parties (employees and employers) due to the financial crisis 
YES NO
Difficulties in obtaining start-up capital for the fund 





YES NO
Other:…………………………………………………………………………………………………………….
Any additional comments or questions?
…………………………………………………………………………………………………………………………….
…………………………………………………………………………………………………………………………….

…………………………………………………………………………………………………………………………….

…………………………………………………………………………………………………………………………….

…………………………………………………………………………………………………………………………….

…………………………………………………………………………………………………………………………….

THANK YOU FOR YOUR COOPERATION!
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